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SCHOOL  : 
LEVEL : 
SUBJECT : 
TERM : 

HENRY PARK PRIMARY SCHOOL
PRIMARY 6
ENGLISH

Booklet A 

Q 1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10

1 1 4 2 3 3 2 1 2 3

Q11 Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20

1 2 3 4 3 3 1 2 1 3

Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28

4 1 3 4 3 4 3 1

Booklet B 

Q 29 Q30 Q31 Q32 Q33 Q34 Q35 Q36 Q37 Q38

N K E B M C J D Q H

Q39) does Q43) being Q47) gesture

Q40) relationships Q44) how Q48) done

Q41) extend Q45) for Q49) definitely

Q42) and Q46) pleasant Q50) courteous

Q51) with Q56) can Q61) caused

Q52) refers Q57) on Q62) attempt

Q53) small Q58) at Q63) lead

Q54) interest Q59) are Q64) flown

Q55) available Q60) threat Q65) videos

Q66) Muthu prefers going swimming with his cousins to visiting.

Q67) The parcels have been delivered by Mr Lim to his neighbours

yesterday.

Q68) That album, which Siti has been searching for contains all her favourite

songs.
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Q69) Deming said that his brother had done to London to pursue his studies

the previous year.

Q70) It was with enthusiasm that the school gymnasts trained hard for the 

competition.

Q71) perched precariously

Q72)

Q73) It was a ‘good thing’ because Estella scale the tree quickly and hand 

over the writer’s glasses to him so he can go back down.

Q74) It (line 11) --- The size of the gardener’s eyes.

They (line 18) --- A pair of red glasses.

Here (line 35) --- in the branches of the cherry tree

Q75) It was upsetting to hear someone say that the writer’s failing eyesight 

would eventually be lost completely and he would be blind.

Q76) It was the first time anyone told the writer he could do something about

his condition.At least it was something within his control instead of

waiting and complaining about the inevitable.

Q77) The writer was curious about what Estella had written on her list. She 

promised to show the writer her list which made him forget his fear of 

getting down.

Q78) a) False --- The writer had to squint hard to see the gardener.

b) False --- The first item he crossed out was to get up and down the

cherry tree blindfolded.

Q79) a) He would blindfold himself and practise doing the activities on

his list until he mastered them.
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b) It was to allow him to get used to doing the things he liked when

he eventually lost his eyesight.

Q80) He was able to live a full without using his glasses, because he had been 

able to master activities to do blindfolded. He was able to do much more than 

he dreamed of. 
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